924 (K9a7)

'7\8 Linearized knot diagam
(S T R

Solving Sequence
9

. N C2,C4, C
A knot diagranﬂ L7 c1 2,4 c3 3 Co 6 cr : Cy 9 cs 2 S

Ideals for irreducible component#ﬂ)f Xpar

I = 2u'® +2u" + - 4 4b—2, —2u —3u® + -t da—2, ulT F 20— 20— 2)
I} = (a*u —a® + b+ 2a — 2, a® — 2a*u + 3au —u, u® —u +1)

II'={(a,b-1 v-1)

* 3 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(2u'®+2ut® 4. .. +4b—2, —2u®—3u®+..-+4a—2, v +2u0+. .. —2u—2)

(i) Arc colorings

o ()

0
a7 = U
1
a2: u2
1,16 4 3,15 1 1
51{’ +Z1i + -—§u+€
aqg = _§u16_§u15+__.+u+§
tul+ e+ lutl
as= \_1,16 “1,15 1
3 U U+ +u+ s
u
as = \ud+u
u3
ag = \u®+ud+u
§u16+u15+“ u_%
a9 = %u15—|—1u14+~~—%u—1
1,12 _ 1,10 1 1
_111; 1§5u ;‘3""’1527“‘""5
as = su' + 5u”+ su’ + su +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u'® 4 4u'® + 6u'* + 8u'3 + 8u'? + 14u!! + 10u!® + 129 + 4u® +
10u” 4 20u® + 26u® + 16u* — 4u — 10u? — 8u — 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq um =2t o — 2+ 2
C2 ut +8utl 4+ 4 3u+ 1
c3, Cy w’ = w41
C4,Cs5,C8 w2+ 3u+1
7 ul" —6ut® - 4+ 8u+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢6 Yy 6y 8y —4
Co g Ayt 13y — 1
€3, Co YT 8yt 4. 43y —1
C4,Cs5,C8 y' =16y 4+ 19y — 1
¢ y'" + 6y + - + 376y — 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.742615 4 0.6509081
a= 0.456798 — 0.0770681
b= 1.128570 + 0.3591171

—3.65923 — 1.227241

—6.14847 + 0.855051

u = —0.742615 — 0.6509081
0.456798 + 0.0770681
b= 1.128570 — 0.3591171

—3.65923 + 1.227241

—6.14847 — 0.855051

u = —0.834865 + 0.2650141
a= 0.636187 + 0.2409481
b= 10.374678 — 0.5206411

2.61956 — 0.433871

2.56834 — 0.875401

u = —0.834865 — 0.2650141
= 0.636187 — 0.2409481
0.374678 + 0.5206411

2.61956 + 0.433871

2.56834 + 0.875401

= 0.976738 4+ 0.5626681
= 0.456039 + 0.1096531
1.072950 — 0.4984331

0.61043 4 4.647711

—0.43915 — 4.116951

0.976738 — 0.5626681
= 0.456039 — 0.1096531
1.072950 + 0.4984331

0.61043 — 4.647711

—0.43915 4 4.116951

—0.003992 + 0.8423421
1.18580 + 1.314981
—0.621791 — 0.4194131

1.30982 — 1.469551

3.63583 4 4.665281

—0.003992 — 0.8423421
1.18580 — 1.314981
—0.621791 + 0.4194131

1.30982 + 1.469551

3.63583 — 4.665281

—0.656745 + 1.0047001
= —0.46618 — 1.830301
= —1.130680 + 0.5130731

—2.57978 + 6.570631

—3.26005 — 6.434521

—0.656745 — 1.0047007
= —0.46618 + 1.830301
= —1.130680 — 0.5130731

>~ Q@ €|l & €| & €|l & €| & €| & &>
Il

—2.57978 — 6.570631

—3.26005 + 6.434521




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.110097 + 1.2465101
a= 0.360483 — 1.2808501
b= —0.796399 + 0.7234271

8.03468 + 2.711651

5.84242 — 3.137101

u = —0.110097 — 1.2465107
a= 0.360483 + 1.2808501
b= —0.796399 — 0.7234271

8.03468 — 2.711651

5.84242 4 3.137101

u = —0.578864 + 1.1163001
a= 0.568056 + 0.6899081
b= —0.288739 — 0.8638311

5.04981 + 5.511581

4.25126 — 3.844901

u = —0.578864 — 1.1163001
a= 0.568056 — 0.6899081
b= —0.288739 4 0.8638311

5.04981 — 5.511581

4.25126 + 3.844901

u= 0.718492 + 1.1293701
a = —0.46497 + 1.576491
b= —1.172120 — 0.5835561

2.40324 — 10.833701

0.89378 4 7.412611

u = 0.718492 — 1.1293701
a = —0.46497 — 1.576491
b= —1.172120 + 0.5835561

2.40324 4 10.833701

0.89378 — 7.412611

u= 0.463897
a= 0.535599
b= 0.867068

—1.25812

—8.68790




II. I¥ = (a®>u — a® + b+ 2a — 2, a® — 2d’°u+ 3au —u, u? —u+1)

(i) Arc colorings

a0
)
)

a7 =
a9 =

a’u + a? —2a—|—2>
—a u+a a+2>

(
(
(e
asz = ( a’u+a® —2a+2
o
(¢
¢
(-

aq =

ag =

)
)
a’u — a? +au+2a—2
2u—a’+au+a—2

—a?u + a? —a—|—2>

ag —
ag =

a5 = \ —a?u+a%—2a+2

—a*u+a®—a+2
as = \ —a?u+a® —2a +2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, (u? +u+1)3
€2 ub 4+ 4u® + 6ut +3ud —u —ut1
€3,C4,C5 ub —2ut +ud o —u 1
Cg, Co
¢ (u? —u+1)3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg,C7 (y2+y+1)3
C2 Y — 4y +10y* — 119° +19y% — 3y + 1
€3,C4,C5 W — 4 6yt =3 -ty +1
Cg, Co




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 V—1(vol + /—1CS) Cusp shape
u = 0.500000 + 0.8660251
a= 0.741145 — 0.6321631 —2.029881 0.+ 3.464101

b= —0.218964 + 0.6661881

u = 0.500000 + 0.8660251
a= 0.439111 + 0.0462761 — 2.029881 0.+ 3.464101
b= 1.252310 — 0.2373641

u = 0.500000 + 0.8660251
a = —0.18026 + 2.317941 — 2.029881 0.+ 3.464101
b= —1.033350 — 0.4288251

u = 0.500000 — 0.8660251
a= 0.741145 + 0.6321631 2.029881 0. — 3.464101
b= —0.218964 — 0.6661881

u = 0.500000 — 0.8660251
a= 0.439111 — 0.0462761 2.029881 0. —3.464101
b= 1.252310 + 0.2373641

uw = 0.500000 — 0.8660251
a = —0.18026 — 2.317941 2.029881 0. —3.464101
b= —1.033350 + 0.4288251
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III. I} = {a, b—1, v —1)

(i) Arc colorings

o= (o)

)
o ()
o )
o ()
o ()
o ()
o (%)
o ()
o ()

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Ce6,C7 U
C2,Cg, Cy u—1
c3,C4,Cs u—+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, Ce, C7 Y
C2,C3,C4 Y — 1
Cs5,C8, Co
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1 (vol + y/=1CS)

Cusp shape

v =

a =
b=

1.00000

1.00000
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IV. u-Polynomials

Crossings u-Polynomials at each crossing

€1, Ce w(u® +u+ 13w —2u'% ... —2u42)
C2 (u—1)(uS +4u® 4+ —u+ 1) (u+8u® 4+ +3u+1)
s (w+1)(u® —2u + - —u4+ 1) (" =200 4 —u 1)

C4,Cs (w4 1)(us —2ut + - —u+ 1) (u + 20 4+ 3u+ 1)
7 u(u? —u+1)3(u'” — 6u's + - 4 8u +4)
8 (w—1)(u® —2u* + - —u4+ )" +2u 4+ 3u+1)
€9 (w—1)(u® —2u* + - —u4+ 1) (" =20 4+ —u 1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
e, ¢ y(y? +y+ 13y + 6y -+ 8y —4)
¢ (y — 1) (y® — 4y° + 10y* — 11y° + 199> — 3y + 1)
T4y 13y — 1)
C3, Cy =D 4+ +y+ DT -8y -3y — 1)
C4, C5, C8 (y— 1) =4+ +y+1)(y'7 =16y + - +19y — 1)
cr

y(y? +y+ 137 + 6y + .- 4 376y — 16)

16



